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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS

FUTURE OF CAR USE IN CITIES

version A /N 199

version B /’a noA)

ii ~ What effect the changes in London have had.

iv  What effect the changes in London have had.

[One measure has been to] make public transport
cheaper and/or more efficient OR require people to
pay £12 each time they drive to the city center.

[One measure has been to] make public transport
cheaper and/or more efficient OR require people to
pay £12 each time they drive to the city center.

[Because] the number of cars on city streets has
decreased OR the number of people buying
cars has decreased.

[Because] the number of cars on city streets has
decreased OR the number of people buying
cars has decreased.

iii  Why people can use their cars less.
vi How young people are different from their
parents.

ii  Why people can use their cars less.
v How young people are different from their
parents.

[They think that in the future, the use of cars]

will increase.

[They think that in the future, the use of cars]

will increase.

i Why electric cars could lead to more
congestion.

iii  Why electric cars could lead to more
congestion.

[... Henley thinks cities should] not assume
(traffic) congestion will vanish OR do everything
they can to deal with (traffic) congestion.

[... Henley thinks cities should] not assume
(traffic) congestion will vanish OR do everything
they can to deal with (traffic) congestion.

PART II: VOCABULARY

version A /X 109 version B /’2 109
8. 5—1—4 3—6-—-2
9. 3—6-—-2 5—1—4
10. 2 —6—4 6—-—2-—-3
11. 624 2_6_4
12. 4 —1-—5 1—5—-4
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